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this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year's document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.
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Part 1 — General marking guidance for GCSE MFL Writing Tests
Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as
instructed) to show the qualities that are being looked for. You can then apply the mark scheme.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example.

You may well need to read back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Marks will be allocated in the following way at Higher Tier:

Content | Quality of | Range of | Accuracy | Conveying | Application of | Total
Language | language key grammatical
messages | knowledge of
language and

structures
Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 6 12
Total 25 6 12 5 6 6 60

Higher Question 1/Foundation Question 4

10 marks for Content + 6 marks for Quality of Language (16 marks in total).

Candidates write approximately 90 words in total about four different bullet points. All bullet points must
be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an

appropriate mark within a mark range.

The question is marked for Content and for Quality of language, according to the following criteria

(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2):

Content

Marks | Response

A very good response covering all aspects of the task. Communication is clear and a lot
of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is mostly clear but
7-8 perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.

A reasonable response covering almost all aspects of the task. Communication is

5-6 generally clear but there are likely to be lapses. Some information is conveyed. An
opinion is expressed.

A basic response covering some aspects of the task. Communication is sometimes clear
3-4 but there are instances where messages break down. Little information is conveyed. An
opinion is expressed.

A limited response covering some aspects of the task. Communication is often not clear
1-2 and there may be frequent instances where messages break down. Very little
information is conveyed. There may be no opinions expressed.

9-10

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant in the broadest sense must be ignored when awarding the mark for Content.
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¢ A minimum number of bullet points must be covered for the award of marks for Content, as follows:

o 7-10 marks: 4 bullet points

o 5-6 marks: 3 bullet points

o 3-4 marks: 2 bullet points

o 1-2 marks: 1 bullet point

The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a mark lower than the 9 or 10 band is more
appropriate. The more lapses in clarity that there are, the lower the mark is likely to be. All of the
information that a candidate attempts to give in relation to a particular bullet point may be

unintelligible, in which case that bullet point will not have been covered, meaning that the maximum
mark will be 6.

¢ You must accept any information which is a plausible response to the bullet point, even if it does not
explicitly mention, for instance, a time or place. For example, if the bullet asks what the candidate did
last weekend, and he/she writes ‘| went to see my grandparents and then went to a theme park’, this
can feasibly be an account of what happened last weekend, even though ‘last weekend'’ is not
mentioned. Equally, if the student is asked to say what he/she does on a typical visit to a shopping
centre and they write ‘I buy some clothes and go to see a film’, this is also an acceptable fulfiiment of
the task, even though ‘shopping centre’ is not mentioned.

¢ The bands refer to the amount of information that is conveyed, as follows:

9-10: alot

7-8. quite a lot
5-6: some
3-4: little

1-2: very little

All of these have to be considered with reference to the suggested number of words, which is
approximately 90. In other words, a candidate who writes approximately 90 words, clearly
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the
other criteria are met. Conversely, a candidate may write much more than 90 words, but the
language is so inaccurate that little or very little information is conveyed successfully and the mark will

be much lower. If a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not
be conveyed.

e The candidate must give opinions in order to have access to certain marks, as follows:

7-10: two opinions
3-6: one opinion

This is not an automatic mark and the other criteria within a particular band must be met. If there is
no opinion, the maximum mark is 2. An opinion may be expressed simply, for example: ‘| like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion. A
neutral or descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think
that’. For example: ‘I think that my town is big’.
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Quality of language

Marks | Response

A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful.
5-6 Errors are mainly minor. Some more serious errors may occur, particularly in complex
structures and sentences, but the intended meaning is nearly always clear. The style
and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt at
complex structures and sentences. There are references to at least two different time
frames, although these may not always be successful. There may be some major
errors, and more frequent minor errors, but overall the response is more accurate than
inaccurate and the intended meaning is usually clear. The style and register may not
always be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of
the task. Sentences are mainly short and simple or may not be properly constructed.
There may be frequent major and minor errors. Little or no awareness of style and
register.

3-4

1-2

0 The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Quality of language. A mark of 0 for Content automatically results in a mark of O
for Quality of language but, apart from that, the Content mark does not limit the mark for Quality of
language. However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality
of language.

e Each band has five strands: variety of vocabulary; complexity of structures and sentences; reference
to time frames; accuracy of the language; style and register. Sometimes it will be necessary to adopt
a ‘best fit’ approach, because the five strands will not be consistently demonstrated. Whether it is the
top or bottom mark in the band will depend on whether the criteria are nearer to those of the band
above or below.

¢ |In order to score in the 5-6 band, there must be reference to all three time frames (past, present and
future). For the 3—4 band, there must be reference to at least two time frames. Reference to a
particular time frame may be demonstrated with one example. The verb used to refer to a particular
time frame need not be totally correct, provided the message is clear. These marks are not awarded
automatically and the other criteria in the band are equally important. Notice that references are to
time frames, not tenses. So, for example, the present tense usage in the following sentence is a
reference to a future time frame: ‘I'm going to the concert next week’.

¢ When considering the complexity of the language, you should bear in mind that a) this is the overlap
guestion and is attempted by both Foundation and Higher candidates; b) that the criteria for Quality of
language in this question are not as demanding as the language criteria for Higher Question 2.
However, for a mark of 5 or 6, complex structures and sentences are attempted. They may not
always be successful and this may lead to serious errors because of the complexity of the structure or
sentence which the candidate attempts. Complexity may be shown in some of the following ways:
different tenses; intensifiers; time markers; connectives; subordinate clauses; infinitive constructions.
This should not be seen as a ‘ick list’, but rather as an indication of the definition of complexity at
GCSE level.
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¢ The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses. There is no requirement for candidates to present
their piece of writing in a particular way because of the context, eg a blog or email does not need to
look like a blog or email. It is the content which is to be marked.

Higher Question 2
15 marks for Content + 12 marks for Range of language + 5 marks for Accuracy (32 marks in total).

Candidates write approximately 150 words in total about two different bullet points. Both bullet points
must be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The question is marked for Content, for Range of language and for Accuracy, according to the following
criteria:

Content

Marks | Response

An excellent response which is fully relevant and detailed, conveying a lot of
13-15 | information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

A very good response which is almost always relevant and which conveys a lot of
10-12 | information. Communication is mostly clear but there are a few ambiguities. Opinions
are expressed and justified.

A good response which is generally relevant with quite a lot of information conveyed.
7-9 Communication is usually clear but there are some ambiguities. Opinions are
expressed and may be justified.

A reasonable response with some relevant information conveyed. Communication is
4-6 sometimes clear but there may be instances where messages break down. An
opinion is expressed.

A basic response which conveys a limited amount of relevant information.
1-3 Communication may not be clear and there are instances where messages break
down. An opinion may be expressed.

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant must be ignored when awarding the mark for Content.

However, as the bullet points are much more open-ended, there is scope for candidates to include
information which is still relevant but not in direct response to a bullet point. For example, when
addressing a bullet point requiring a response about a memorable holiday, candidates may refer to
where they might go on a future holiday. Any information which cannot be deemed at all relevant must
be ignored when awarding the mark for Content.

As with the overlap question, you must accept, as an accomplishment of the task, any plausible
response to a bullet point, even if an element such as time or place are missing.
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In order to score a mark of 13 or more for Content, both bullet points must be covered. However,
there is no requirement for an equal coverage of both bullet points.

A candidate who conveys information in relation to one bullet point only can score a maximum of 12
marks for Content.

Provided at least some coverage of both bullet points is evident, candidates will have access to full
marks where the other criteria are met.

The bands refer to the amount of information that is conveyed, as follows:

13-15: a lot
10-12: a lot

7-9: quite a lot
4-6: some
1-3: a limited amount

All of these have to be considered with reference to the recommended number of words, which is
approximately 150. In other words, a candidate who writes approximately 150 words, clearly
understandable and relevant to both bullet points, will be able to achieve 15 marks provided the other
criteria are met. Conversely, a candidate may write much more than 150 words, but the language is
so inaccurate that only a limited amount of information is conveyed successfully. If a candidate writes
considerably fewer than 150 words, ‘a lot of information’ will not be conveyed.

The candidate must give and justify opinions in order to have access to certain marks, as follows:

10—15: at least two opinions are expressed and justified
7_9: at least two opinions are expressed
4—6: at least one opinion is expressed

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 3. An opinion may be expressed simply, for example: ‘1 like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion or a
justification of an opinion. A neutral or descriptive adjective is only classed as an opinion or a
justification if it is preceded by something like ‘I think that’. For example: ‘I think that my town is big’
(opinion); or a neutral adjective can be given as a justification of an opinion: ‘I like my town because it
is big’ (opinion + justification).

Once the correct band has been decided upon, the middle mark in the band will be given to a
candidate whose writing fits the band well. If the band above was a consideration, then award the
higher of the three marks; if the band below was a consideration, then award the lower of the three
marks.
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Range of language

Marks | Responses

Very good variety of appropriate vocabulary and structures. More complex sentences
10-12 | are handled with confidence, producing a fluent piece of coherent writing. The style and
register are appropriate.

Good variety of appropriate vocabulary and structures. More complex sentences are
7-9 regularly attempted and are mostly successful, producing a mainly fluent piece of
coherent writing with occasional lapses. The style and register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences are
4-6 attempted, using appropriate linking words, often successfully. The style and register
may not always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short and simple.
Little or no awareness of style and register.

The range of language produced does not meet the standard required for a mark at this
tier.

The whole of the response must be assessed when awarding the mark for Range of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Range of language and for Accuracy. A mark of O for Content automatically
results in a mark of O for Range of language but, apart from that, the Content mark does not limit the
Range of language mark. However, a short piece is unlikely to show sufficient variety for a high mark for
Range of language.

e Each band has five strands: variety of vocabulary; variety of structures; complexity of sentences;
fluency of the writing; style and register. For a mark of 12, there will be good evidence that the criteria
for all five strands have been met comfortably. Sometimes it will be necessary to adopt a ‘best fit’
approach, because the five strands will not be consistently demonstrated. Once the correct band has
been decided upon, the middle mark in the band will be given to a candidate whose writing fits the
band well. If the band above was a consideration, then award the higher of the three marks; if the
band below was a consideration, then award the lower of the three marks.

¢ There must be more complex sentences for the candidate to score 7 marks or more. For a mark in the
10-12 band, the complex sentences are produced confidently, with few errors in structure; for a mark
in the 7-9 band, the attempts at complex sentences are mostly successful. Complex sentences may
be formed in some of the following ways across the languages: use of subordinate clauses; use of
relative clauses; use of infinitive constructions; the use of object pronouns within a sentence to lend
greater fluency. This should not be seen as a ‘tick list’, but rather as an indication of the definition of
complexity at GCSE level.

e The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses.

e There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.
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Accuracy
Marks | Response

5 Accurate, although there may be a few errors especially in attempts at more complex
structures. Verbs and tense formations are secure.

4 Generally accurate. Some minor errors. Occasional major errors, usually in attempts at
more complex structures. Verbs and tense formations are nearly always correct.

3 Reasonably accurate. There are likely to be minor errors and there may be some major
errors, not only in complex structures. Verb and tense formations are usually correct.

5 More accurate than inaccurate. The intended meaning is generally clear. Verb and
tense formations are sometimes correct.

1 There may be major errors and frequent minor ones, and the intended meaning is not
always clear. There is only limited success with verb and tense formations.

0 The accuracy does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Accuracy, even if some of it is
irrelevant to the bullet points.

A mark of 0 for Content automatically results in a mark of 0 for Accuracy but, apart from that, the Content
mark does not limit the Accuracy mark. However, a short piece is unlikely to show sufficient evidence for
a very high mark for Accuracy.

¢ For the award of 5 marks, the writing need not be perfectly accurate. There may be errors in attempts
at more complex language and the occasional minor error, but these will be infrequent. A minor error
is one which has no bearing on communication (for example, incorrect gender), whereas a major error
is one where communication is affected.

e For a piece of writing that contains a good number of errors, a useful starting point will be to decide
whether overall it is more accurate than inaccurate. If it is, then the minimum mark will be 2.

¢ A major consideration in awarding marks for accuracy is correctly formed verbs and tense formations.
All verbs and tense formations should be considered here but as there are only two bullet points in this
guestion, only two time frames will be elicited. While some candidates will develop their ideas and, in
so doing, use a third time frame and different tenses, there is not the same requirement as there is in
Foundation Question 4/Higher Question 1 to refer to all three time frames.

Higher Question 3

6 marks for Conveying key messages + 6 marks for Application of grammatical knowledge of language
and structures (12 marks in total).

Candidates translate into the target language a passage in English, totalling at least 50 words. The
translation is marked for Conveying key messages and for Application of grammatical knowledge of
language and structures, according to the following criteria:

10
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Conveying key messages

Marks | Response
6 All key messages are conveyed.
5 Nearly all key messages are conveyed.
4 Most key messages are conveyed.
3 Some key messages are conveyed.
2 Few key messages are conveyed.
1 Very few key messages are conveyed.
0 The content does not meet the standard

required for level 1 at this tier.

The translation is divided into 13 key messages. A tick will be awarded for each key message that is
communicated, despite any minor inaccuracies. The total number of ticks awarded equates to a mark

according to this table:

Total ticks Mark

13

6

11/12

8/9/10

5/6/7

3/4

1/2

0

O, N |W|~ O

When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a
native speaker understand the target language version without reference to the original English?’ If the

answer is ‘yes’, award a tick.

Application of grammatical knowledge of language and structures

Marks | Response
6 Excellent knowledge of vocabulary and structures; virtually faultless.
5 Very good knowledge of vocabulary and structures; highly accurate.
4 Good knowledge of vocabulary and structures; generally accurate.
3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.
2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 The language produced does not meet the standard required for Level 1 at this tier.

11
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Once you have decided on the mark for Conveying key messages, you should read through the
translation once more and decide on the mark for Application of grammatical knowledge of language and
structures.

This mark is not limited by the Conveying key messages mark, unless the mark for Conveying key
messages is 0, in which case the mark for Application of grammatical knowledge of language and
structures must also be 0.

There is no direct correlation between the two marks, but your first thought should be to see if the
same mark is appropriate. For example, a candidate may have been given 7 ticks and you have
awarded a mark of 4 for Conveying key messages. You may have had to hesitate when deciding on
one of the ticks but just decided against it. This may then encourage you to give a mark of 5, rather
than 4, for Application of grammatical knowledge of language and structures.

If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate and
award a mark accordingly. Not to do so will penalise unfairly those candidates who make an attempt
but commit serious errors in so doing.

Perfection is not required for full marks. For example, occasional missing accents and minor spelling
errors do not preclude a top band mark. However, if there are numerous minor errors and incorrect
use of accents which change the meaning of a word, this is likely to have an impact on the mark for
Application of grammatical knowledge of language and structures.

12
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Appendix 1

Notes on the use of language

The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands
of marks in the Quality of Language and Range of Language categories. They should not be seen as a
checkilist.

Variety of vocabulary
Consider particularly:

e use of synonyms, eg n9a>1yn/q>1yn »x rather than just mamx »x/2AMN IR, MXIY D919/9vaN rather than
just v, 91m Ny etc, rather than just 2o

¢ different persons of the verb

¢ use of more sophisticated vocabulary — though the emphasis is on avoiding a lot of conspicuous
repetition.

Variety of structures
Consider, for example:

¢ use of infinitive constructions introduced by prepositions (5y 21779 ,2 y03Y), adjectives (1% /873,92 23Wn),
and after verbs (b Damx NN Y NI5Y Noy T/ AN and ...5 Mpn...5 NxA)

¢ use of object pronouns

¢ use of indefinite pronouns/adjectives such as 95,ynwn, v etc

¢ use of connectives such as 7av...mv....PYRI....0) KIX....p7 NY

¢ use of adverbs and adverbial phrases such as Swn y1v ,5wnd nNe noyd NN 953

e use of negatives (x5 9N ,x5 715 etc)

e use of comparative expressions (..n IN»/mMna)

¢ use of demonstrative adjectives and pronouns (noxn, nxy,nt etc)

e use of possessive pronouns (*>v % etc)

¢ use of superlative adjective (21wn>dn 20 N,3N11... etc)

¢ use of complex sentences and a range of tenses.

Use of complex/longer sentences
Consider:

¢ use of subordinate clauses introduced by ...w »72...w %91 >3 18,9932 ,TwNO etc
¢ use of relative clauses introduced by .n mns (85),..1 AN (D) etc

and, when considering use of longer sentences:

¢ use of co-ordinating conjunctions: Yax N ,3X 75
Use of time frames/tenses

e The criteria for Quality of Language in Foundation Question 4/Higher Question 1 include ‘references to
two/three time frames’. If a candidate refers to three time frames, it may well be through different
tenses, but equally it could be through the use of the infinitive to indicate an intension for the future:
.2 Mpn N Poya (future).

e The criteria for Accuracy in Higher Question 2 refer to ‘tense formations’. In this question, a candidate

can impress by showing that he/she can use a good range of tenses, thereby adding to the range and
complexity of language.

13
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Appendix 2

A glossary of terms used in the Writing assessment criteria

NB This alphabetical list corresponds to all questions on both Foundation and Higher papers.

ambiguity

A problem with immediate communication caused by grammatical
inaccuracy or a contradiction (eg ‘I love it because it's boring’).

appropriate

Language which is suitable for the requirements of the task.

coherent

Language which is easy to follow with a logical sequencing of ideas.
See fluent’.

complex sentences

Sentences which contain a subordinate clause or clauses.
See Appendix 1 for examples.

complex structures

See Appendix 1 for examples.

confidence

Accurate use of language.

delay in communication

A problem with immediate communication caused by grammatical or
lexical inaccuracy.

fluent

Language which is easy to follow with a logical sequencing of ideas.
See ‘coherent’.

grammatical structures

Structures which are listed in the specification.

justified

The reason for holding a stated opinion.

key messages

With reference to the translation questions on both papers, these are
the key messages as identified in the mark scheme.

lapses

A problem with communication caused by grammatical inaccuracy

linking words

Words such as KviY, wKs‘ used to create longer sentences.

longer sentences

These may be complex, with more difficult subordinations, or more
simple through the use of linking words such as KviY, wks*, Zte,

Zvnij

major errors

Errors which impair communication.

minor errors

Errors which do not have a bearing on communication.

A positive/negative verb or adjective used to give an opinion; or a

opinions neutral adjective, such as ‘big’, preceded by something like ‘I think
that’. For example, ‘I think that my bedroom is very small’.

secure Accurate.

structures See ‘grammatical structures’.

style and register

The style of writing. Usually this will be determined by the nature of
the task, requiring informal or formal register.

The use of tenses, with or without time markers, which refer to past,

time frames present or future events. A present tense may be a future or past time
frame.
variety Use of different verbs’ nouns and adjectives which avoid a lot of

conspicuous repetition.

15
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Part 2 — Marking guidance for June 2022 series

Question 01

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

[16 marks]
Content
Level | Marks | Response

5 9-10 | A very good response covering all aspects of the task. Communication is clear
and a lot of information is conveyed. Opinions are expressed.

4 7-8 | A good response covering all aspects of the task. Communication is mostly
clear but perhaps with occasional lapses. Quite a lot of information is
conveyed. Opinions are expressed.

3 5-6 | A reasonable response covering almost all aspects of the task.

Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

2 3-4 | A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down. Little
information is conveyed. An opinion is expressed.

1 1-2 | Alimited response covering some aspects of the task. Communication is often
not clear and there may be frequent instances where messages break down.
Very little information is conveyed. There may be no opinions expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.
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Quality of language

Level

Marks

Response

3

5-6

A variety of appropriate vocabulary is used. Complex structures and sentences
are attempted. There are references to three time frames, which are largely
successful. Errors are mainly minor. Some more serious errors may occur,
particularly in complex structures and sentences, but the intended meaning is
nearly always clear. The style and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt
at complex structures and sentences. There are references to at least two
different time frames, although these may not always be successful. There
may be some major errors, and more frequent minor errors, but overall the
response is more accurate than inaccurate and the intended meaning is usually
clear. The style and register may not always be appropriate.

1-2

The range of vocabulary may be narrow, repetitive and/or inappropriate to the
needs of the task. Sentences are mainly short and simple or may not be
properly constructed. There may be frequent major and minor errors. Little or
no awareness of style and register.

The language produced does not meet the standard required for Level 1 at this
tier.

Notes

(@) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language.
Apart from that, the Content mark does not limit the mark for Quality of language.

General rule for this question:

¢ the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would not,
however, count as a reference to a present/past/future event (ie no annotation of Pr/P/F).
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Question 01.1 Content

Bullet

Comments

DONYTY , 012 NN NVN NNIND

Any meal, if a justification/reasoning is included.
Students can choose to include a snack they eat at
break as long as their justification is convincing.

TINKDN DIMIN DY DONYT

Can express a positive or negative opinion as long as
statement is justified.

92¥2 NTYONI DNDOIRY NIV NMIN

Must include verbs in the past tense,

: D99V NIN NTHIND DY NN INND INTYN NN
NTYONI IN N33

Must answer in the future tense. Using the verb
‘want’ is considered ‘future tense’. Students will have
to talk about one of the two; either a restaurant or at
home.

Question 01.2 Content

Bullet

Comments

MYAHN DY MDVYNN

NIND NIN2 NYIN DV MINIONY NN

Students must include both advantages and
disadvantages

Y2 NTNYH NYIN

Must include verbs in past tense

NI DYHINI MIYYY ININY NPV

Must include verbs in future tense

Question 01.3 Content

Bullet

Comments

M2 9NN DYTINOD TYNRN DY MNYION MNIN
NN 90N

Students must write about both advantages and
disadvantages.
Students must refer to higher education.

TNYA TN ININY NNPN

Students must address this bullet point in the future
tense.

IN DIOY PYA ,NVIDINNA TINDD PTY NN
NINN PY2

Students are not required to write about the
advantages and disadvantages of both options,
choosing to talk about one of the two options is good
enough as long as they include justification/reasoning.

92y32 DOVYY NOPON NTIAY

Students must write in the past tense.
Will accept pupils writing about jobs done in the
evening after a day in school.
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The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either

Question
01.1

This is a possible response (indicative content):
STND 2Y7 NN P12 DP IR TWND YD DA NN NIVN DNIRD NRT P2 DNIR OINYTH

D212 DN DN OMNNNN DIVIN DTN 111 129 NI IN .ININHDS IMIN 27N XD DN
229 INYIND NYIN 7w D1OND

IPOY MINDY MNIYNXT TND MIPI PN ONYIN .I9Y NNID DY NTYDNY YNNY 92y M1ava
NN NN YT XN YTIND NN NTYONY NIND INPHN WHN MIN .OIN TN DY P1OD SMININ
% 99 NTYDNI DTN OV MNT N AN NN MNYTY .D¥12N 19010 PN ODY NTHNN DY
NIVY TN Y DN OO TO,NTIAY RPN TOIN

(99 words)

[16 marks]

or

or

Question
01.2

This is a possible response (indicative content):

MYAIN N2 ODHY DINNN XYNN DY 1INON 0PN

TUNRNT N 9NNY YT IIMNMNNNY DIDIN) NYP DX DY TNRYN .TNHD MAIWN MYIHN

MY DN NYP DT DN .DITIDYD

NN D NP AN NN NN T HY YN DIV NAMN N NN D MDNNI NYNIN N TYN MIN
N 2D YIND NIN2 NYIN NDTYN XTINK .NIMN YNNI NMMINA NITNONI NOWN NN 1IN
.MYMIYN NN PONY NN

STRD 1IN NNV DX INNY .IDNIN DY NYDI PPN NWaINa

DNMINOTINT XD MINPN 92 992 .ONIWIOHY NNAD) NID NN 1PN NN PPN NwaNa
TR 7Y DT .DMINTIND MITYDN JOT 1D .DMPHX YIVIND N 27 03

(100 words)

[16 marks]

Question
01.3

This is a possible response (indicative content):
2PN DX TIION DPD INND DX PYN HY NN HY 2ININ OPN

D»DY DY TNYA NN NDIDN DINT ON 2D NN NN NINPN TINDY IWN INYT

7 NP2 IR TINDS HYND .M DMWY NP MISPN TIDHYW RO 1PYIN NNONNL D7D
.ONY

NDIINM PIDD NN DY MIXPN NI OINYTY .ANIDT TINDY ININ NN D> TIDN DPD MINN
Nphlb)

INNNY NP TIATY 32722 MNNTIN TPNN NNT .NINN PY2 NOIDIDIND TINDD PTY ONYT
NPNIIND MNYIL DIPN IWPNN JIN DY NINAVHNN D 90NN DINN .DWTN DX12N W)
30N NN NTIAYN YN 2 DY OINTIY NP NMINHNA PATH ONN 1YY PPN NYINa

(93 words)

[16 marks]
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Question 02

For this question there are two compulsory bullet points, which are assessed for Content (15 marks),
Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The
maximum mark is 32. The student is expected to produce approximately 150 words over the whole
guestion. The number of words is approximate and you must mark all work produced by the student.

[32 marks]
Content
Level | Marks | Response

5 13-15 | An excellent response which is fully relevant and detailed, conveying a lot of
information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

4 10-12 | A very good response which is almost always relevant and which conveys a lot
of information. Communication is mostly clear but there are a few ambiguities.
Opinions are expressed and justified.

3 7-9 | A good response which is generally relevant with quite a lot of information
conveyed. Communication is usually clear but there are some ambiguities.
Opinions are expressed and may be justified.

2 4-6 | Areasonable response with some relevant information conveyed.
Communication is sometimes clear but there may be instances where
messages break down. An opinion is expressed.

1 1-3 | A basic response which conveys a limited amount of relevant information.
Communication may not be clear and there are instances where messages
break down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at
least some coverage of both bullet points is evident, students will have access to full marks where the
other criteria are met.
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Range of language

Level | Marks | Response
Very good variety of appropriate vocabulary and structures. More complex

4 10-12 . , X :
sentences are handled with confidence, producing a fluent piece of coherent
writing. The style and register are appropriate.

3 7_9 Good variety of appropriate vocabulary and structures. More complex
sentences are regularly attempted and are mostly successful, producing a
mainly fluent piece of coherent writing with occasional lapses.

> 4-6 Some variety of appropriate vocabulary and structures. Longer sentences are
attempted, using appropriate linking words, often successfully.

1 1-3 Little variety of appropriate vocabulary. Structures are likely to be short and
simple.

0 0 The range of language produced does not meet the standard required for Level
1 at this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from
that, the Content mark does not limit the mark for Range of language.

Accuracy

Level | Marks | Response

5 5 Accurate, although there may be a few errors especially in attempts at more
complex structures. Verbs and tense formations are secure.

4 4 Generally accurate. Some minor errors. Occasional major errors, usually in
attempts at more complex structures. Verbs and tense formations are nearly
always correct.

3 3 Reasonably accurate. There are likely to be minor errors and there may be
some major errors, not only in complex structures. Verb and tense formations
are usually correct.

2 2 More accurate than inaccurate. The intended meaning is generally clear. Verb
and tense formations are sometimes correct.

1 1 There may be major errors and frequent minor ones, and the intended meaning
is not always clear. There is only limited success with verb and tense
formations.

0 0 The accuracy does not meet the standard required for Level 1 at this tier.

Notes

(a) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from
that, the Content mark does not limit the mark for Accuracy.

General rule for this question:

¢ the use of an infinitive in place of a finite verb is not acceptable for conveying a message.
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Question 02.1 Content

Bullet Comments

NZ15VI VIWI NNDDN | Students can choose to write about the dangers of
social media or mobile phones.

TNYA PNINO0 KO DN IDTYN OXN | Must be answered in the future tense

Question 02.2 Content

Bullet Comments

DN DIWINDY MIYD DN DOHNYTY DN NN
hab!

2N >IN DMYY PNYA NNNY NNY | Must be answered in the future tense.

Question 02.3 Content

Bullet Comments

DMWY M2XWNM DOV 190N 112595 | Should not be answered in bullet points must be
written in an essay format including opinions and
adjectives.

72YVY ¥12W1 7901 1N%22 DOV DN ITO | Past tense must be included.
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The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either | Question | This is a possible response (indicative content):

02.1
NDNOV HY 2INON DN

PNZNOVI YINOWI M NNOD ¥

D099 NPNIINT MNYID AWNND SPNYNY DXIDHDNHD TP 7 .1IINPNNN MO0 95 NP
D9 91 DN WpPno

.MYSYNNN MIPN HY MNP 0N YN M2 DMV NYIT MIOYNN DY DMPN DIV ,qoNa
DN DNXY NPNIAND NMINYI 1IN ONY DIWIN , DD DI D29 WNAIN WINdNY DYDN Iy M3
.DYMLA IRYINIY DND MNIWOY INNY T DY WTIND DX21N DN NV ININ

L0)IVPNI MINT NI DY DMIPHNN INHND DN DY DINIAN

P2 DY D9 51 DN IWPNT 1IN DIVIN .TINTNOV XID OPN PTYN,TAN T8N TONYa
DOWY ¥TD 7)22 9N THIYD 1YW TIVSRY YINTI 0D WP NV T8N .DPTPHN NV PN DIVIN
DYNY NIIINN HNIW DYTYT 7)Y 1592 DOVID MDY T INITI NN TINYY IN NINIYN
NOY DY NN .MNOD NMIY TIN YTYY WIHINY INTVPON INYT DN NN NYNDIY DO
NP NDNDA PIYNNDT NMPN 213790 ANDIND 1Y TIVXIY NND 112N DY MNN MMNPN
NIV Y2 ON TY YN M MMPN IWNRD

(157 words)

[32 marks]

or Question | This is a possible response (indicative content):
02.2
YV NNHYA N I0N DIWIN DY 1Y DY 2INON DN

712 Y0IN DY 2NN YHINY DIVIND DN NN .IVD/NIND DA DN DIWINY MY MIPN NN W
9190 D12729) IMIONDY DYHDD DMINNN DIVIN INMINNN ,NIN MIPOYN DIND INYTD
MNAYM NMPOY BOY NPT DD WNNWND DIPN DIMDION DY DN DY DIV G0
.2IN5 DYPIT DN NPT IOV DHWH DI DINY ANNY DIYHN DNTIN NIRNINDI

909 ONY AP INYNY IN O1NA NNIXN TDIND INIIND INITY DIDID) DIVIN DY
.INIY DYV DN NRKINDT NNOYN NNINDY TIAYY PYN TAIND DN O 12T

TY IO YITITIY XOW DI190NNY YD YT ND9) 31990 DXPNY NN NOVNNN INYT
22N P DN AW NN

DOWIND PONNY MAINI2 MIAYN .12 30N DIVIND INYY NPT 1NINI 2TINND NY¥IN TNya
DOVYPNI ATHINN GONA YDIN NAIM NNN PNV 121D DN DY THAY MDY 12 0N
NOINY DYDY U DIINN DOYNNN DY PN ON .21V ¥IINY DNY DININI 1172 710N DIVIND
U9IN 10D DYDY0A DI2TY MINT DNN DN DINN IMY DPN NPNY OND INYD

(160 words)

[32 marks]
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or

Question
02.3

This is a possible response (indicative content):
2SOV NOMNN YY INON DY

JVUNY Y27 NYV1A DNNN NONN 912 DD

T2 INX .NINTI 17N 0PN NN DINNNY THNN DT .97)12 1TONY DDINI DXOORNND DX IYNN D
Y NIYY NN NY ¥ DY DI .0MINSN TY DY NOIN DNV D9 DX PRINN
YN DMIWOYN NN YW HOWDY DPAY NPIN SYIOY DY DY MYYN NN NN 2NIN YD1 NN

1D YYD OYNN DY HY MYV NOIWN NN AMNX KDY WHNN IN .MONYNMN Y10 Sund o0wn
95200 XY 0NN G0N NYPI DNRYWNI NI INYTY 2IWN NTY MINDY NPY0NNN0 MNWY NVIDY
900 NN AVN

. MY Y2 MYV 1210 NMORY HWND .0Y555 N3N ¥ HOHY )1ONa

DYNNM TN DD XY DY TNRONN NYHRVN PR D555 55255 DXIVN TRND DXYTOY Pan NN
L1595 09D NO

INND DAN MYIA P I2T2 ONNVIN PNMIX NN NNNN .MV D2 NYW dNIDT WY NAD
NN ONTOON NN NNKD 7NN WP TNRND DYI NNNN .MV 925071207 W MPT 19010
ANV VRN 70 DT .I2N10 DDWND YNOIVNM THDIN IIND

(159 words)

[32 marks]
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2

Question 03

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical
knowledge of language and structures (6 marks) as specified in the criteria below. The maximum
mark is 12. When awarding the marks, the student’s response across the passage should be
considered as a whole.

[12 marks]
Conveying key messages
Level | Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.
Application of grammatical knowledge of language and structures
Level | Marks | Response
6 6 Excellent knowledge of vocabulary and structures; virtually faultless.
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.
3 3 _Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 0 The language produced does not meet the standard required for Level 1 at this
tier.
Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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The translation is divided into 13 key messages (see below). As a general rule, the wrong person or
wrong tense of a verb will not receive a tick. Minor inaccuracies, such as incorrect gender or adjectival
agreement, will not on their own prevent the award of a tick

Message Accept Reject
1 | Every evening, 29y 55 29N 5o
> | 1 walk with ¢ DY D1V NN HHY DINNN DY HPVN IN

walk with my parents Y99 NIAN) NIN

3 |inthe park. P/N2 /PINS2 q3n2
4 | Yesterday it rained D) TP DINNN
5 | so we stayed 17 IR/NINYI 120 7 IR WX
6 | at home. n°12 1IN by
7 We I(_Jve to spend time XIN2 MY DAMN VNIN YIN2 I OXANN NNIN

outside.
8 | always work very hard | 791N /990 722 NYUP T2 THN N

in school 990 N33 NP T
9 | and I need abreak, PN TPIN NINY /NUNIN TOIN NN

. 195 /9RIWID YOOI PMIN XIN PP ,IN

10 SO nelxt summler we will DIV NMIN /DNIWD YOI NI P2

travel to Israe SNV
11 | to visit . NN IPAY /NOW OXTIT AN NN 1P NN IPIAS/ IOV DTN NN IPAY

o visitour cousins. NOW MTT NN Y MNTN
. . 991X DN NNIRAINIY? IIIN HIN)
12 | We will eat Israeli food
YINIW

13 Sggc\ﬁe will go to the DN NOYY 793 PN /DPN PND ToN

Other reasonable alternative translations will also be accepted.
A tick will be awarded for each key message that is communicated, despite any minor inaccuracies. The

total number of ticks awarded equates to a mark according to this table.

Total ticks Mark
13 6
11/12 5
8/9/10 4
5/6/7 3
3/4 2
1/2 1
0 0
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